Problems from Chapters 4, 5. and 7

1. Suppose someone will pay you $50 a year for ten years, However, the first payment
of $50 won't start until 8 years from now. If interest rates arc 9% (expressed as an
effective annual rate), what is }h‘e va'lue of gisﬁoga-v?ﬂ e 0
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2. Suppose someone will pay you S50 a year for ten years, However, the first payment

of $50 won’t start until 8 vears and three months from now. If interest rates are 9%
(expressed as an cffective annual rate), what is the value of this today?
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3. Suppose someone will pay you S50 a year for ten years., However, the first payment
of S50 won’t start unti] 8 years and three months from now. If interest rates are 9%,

compounded monthly, what is the valuc of this today?
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Suppose someone will pay vou 350 a year for ten years, with the first payment three

4,
months from now. If interest rates are 9%, compounded monthly, what is the value of
this today? = < . N
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One manth ago, MAG Carp. recorded carnings of $2.00 and paid a2 $1.50 dividend.
Assuming MAG Corp. pays its dividends quarterly, what Is the most you would pay
for MAG Caorp 1if the appropriate discount ratc is 12%, compounded monthly and the

return on equity of the firm is 20% ( L\pruq ed"as an Lfﬂ_C[l\L annual yield}? (o108
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6. What is the price of a nine-year 8% annual coupon bond with a face value of $1060 1if
the appropriate dmcmmt rate is 9% (cffective annual rate)? R _
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7. \\"hat is the price of a nine-year 8% semi-annual coupon bond with a face value, of

if the appropriate discount rate is 9% (effective annual rgte)? C[, 0?)
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